CompSci 101 AC 2002 Terms Test
MODEL ANSWERS

QUESTION 1
a) 2t er
b) 3.34
C) THE CODE WILL COMPILE
d) 12
3
4
56
e) Systemout. println("\\n\\\n\\\\n");
f) i is: 80
g) dis: 4.5
h) - 165
i) 5
QUESTION 2
4 syntax errors:
1)Str-| ng al I Stars et kS kS i R R SRR R I R R R ik L
single quotes, should be double quotes

2) Systemout.println(stars + " " + s + " " + stars);
missing concatenation operator after the s

3)public static void main(String[] args) {
missing word voi d

4) printWthStars(nanme, number);
variable nunber should benum

1 logic error:

5)String stars = all Stars. substring(0, nuntStars-1);
nuntt ar s- 1 should benuntt ar s

QUESTION 3

private static int mddl eNunber(int a, int b, int c) {
int max = Math. max(a, Math. max(b, c));
int mn = Math.mn(a, Math.mn(b, c));
return (atb+c) - (max+mn);

QUESTION 4

2.0

no: 10.1
no: 21.5
100.0

QUESTION 5

private static int randonddD git() {
int num= (int)(Mth.random() * 5);
return nunr2 + 1
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QUESTION 6

Line 5
Line 6
Line 7
Line 9
Li ne 10

QUESTION 7

public static void printLuckyCol our()({
int rand = (int) (Math.randon()*7);
i f (rand==0 || rand==1)
System out. println("Lucky col our: green");

else if (rand==2 || rand==3 || rand==4)
System out. println("Lucky colour: red");
el se
System out. println("Lucky col our: blue");
}
QUESTION 8
bl: true
b2: true
b3: false
QUESTION 9

public static void printColum(int num{
int dowmnCounter = num
int upCounter = 1,
whi | e (downCount er >0) {

System out. printl n(downCounter + " - " + upCounter);

upCount er ++;
downCount er - -;

}
}

QUESTION 10

gentl e
br eat hi ng
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QUESTION 11
public class Locker{

private int num floor Num
private bool ean isVacant;
private String hirer;

~
~

/] Constructor
A i
public Locker(String hire, int floor, int nunm{
this.num = num
fl oorNum = fl oor;
hirer = hire
i sVacant = fal se;

}
/
/
/
publ i c bool ean getlsVacant (){
return isVacant;

}

/

/

/

public void setlsVacant (bool ean b){
i sVacant = b;
if (isVacant)
hirer =""; [/optiona

publ i ¢ bool ean hasSaneH rer (Locker otherlL){
if (hirer.equal s(otherL.hirer))
return true;
return fal se

public String toString(){

String str = "Floor "+floor Numt", Locker
nunber: "+num

i f (isVacant)

str += " CQurrently vacant.";
el se

str += " CQurrently hired by: "+hirer;
return str

}
}



